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Write the following as a conditional statement
I-c —‘P-é)u n

An isosceles triangle has at least 2 congruent side:

Il o {'ar.'a.ubfg is fboscfc5) Lthen it hes ¢t lecst 2 A siles.

Write the converse of your conditional statement Sw . beh I p’ "‘E'-wr\
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Combine your two statements above into one I\’..-,Pl.a_g. I -(—' -blen with :'C and on 17
bicondtional statement i P

A Lr‘-‘“bl‘ ’'s isosceles ;'£ endd 0"17 F at leawst

2 sides are =,
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DisTaNCE FORMULA Find the lengths of the segments. Tell whether any of
the segments have the same length. (‘_5 ») (DJZ)
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Find the midpoint with the given endpoints . Xitv VY, +Yy,
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You are given one endpoint of a segment R, and the midpoint M.
Find the other endpc_)gnt i
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Write the inverse and contrapositive of the given conditional statement
I e

" (
If it is January, then it has 31 days Trvwse — oppes: te net

I‘hucr'ac.
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USING ALGEBRA BD bisects 2 ABC. Find the value of x.
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FINDING ANGLES In Exercises 12-17, complete the statement given that

mLEHC = mZDHB = ms AHB = 90°
12.1fms7 =28 theams3=_2 @8

13. IimZ EHB = 121°, thenm/ 7 = _7__
MIfmii=3M thenmi5=_1 .

15. i mZ GHB = 158", then mZ FHC = _2_.
16.IfmsL7 =31 thenmib=_2 .

172. 0mLGHD = 119 thenmz4 = _2
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Write the 2 conditional statements implied by the biconditional statement

A quadrilateral is a paralellogram if and only if the opposite angles are congruen t
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Find the value of the variable(s)
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Write the converse of the given conditional statement

If the month is Feburary, then it is the shortest month of the yea

Use the conditional statement and the converse you wrote to write a biconditional statemen



GIVEN » . | and £ 2 are complements,
£ 3 and £ 4 are complements,

Llmf4
PROVE » L] = L3

Statements

78N\

Reasons

1. £ 1 and £ 2 arc complements,

£3 und £ 4 arc complements,
LA= L4

- By SN [
3Amil+mi2=miI +mid
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S.mil+mid=mL3+mLd

Bmil=msd
Ll

L e

1.1

2. Def. of complementary angles
3. Transitive property of equality
L .
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6_1

7. Definition ol congruent angles



Statement

1)
2)BC=YZ AC=2)

3)AC =AB + BC
XZ=XY + Yz

4) AB + BC = XY + Yz
5)AB + BC = XY + BC
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